10

0.8

-10-8 6 -4 -2 0 2 4 6 8 10

-9 J..L:

&U 1.1;—
£
0.92—..........
04086 4 2 0 2 4 6 8 10

[ pull of goverp parameter |
107"

1072

1074

,:mm
e DOM_TT mkFit-DQMfupgated

[ pull of @parameter |

T T T T T " %;!\'ées 0.00
wf T
2N A W
L N
10—25_ [ A e
1073
10
0-95_""u"-'o"'—"'o'".'"'o"u"'i":'";'.'i-'":"'o'é'-'-"—"iii
808 =6 =4 2 0 2 4 6 8 10

[ pull of dxy parameter

Ratio

107}

1072

1

07876 4 20 2 4 6 8 10

Ratio
=
|||||||||||I|III

Ratio

[ pull of 6 parameter |

1073

- - efleS .
10_1:_ . . _ ] o8t 8
F 3 res : :
- e, O%Z
- x
10—25_ ------------ ...

10

10-8 6 4-20 2 4 6 8 10

o
o]

[ pull of dz parameter

107}

1072

e
=

2108 6 4 2 0 2 4 6 8 10



	Contents
	Page 1


